
Multiplication 

Worksheet-3 

 

A] Choose the correct answer. 

1. 12575 × 30 = ________ 

 

a) 376250                b) 377250 

c) 378250                d) 367250 

2. 8965364 × ________ = 0 

 

a) 0                             b) 1 

c) 8965364                 d) None of these 

3. A college bought 350 desks at Rs. 675 per desk, 150 chairs at Rs. 

326 per chair and 55 blackboards at Rs. 525 per blackboards. How 

much did the school pay in all? 

 

a) 178025                b) 179025 

c) 177025                d) 314025 

4. 2135 + 2135 + 2135 + 2135 + 2135 _____ 4 × 2135 

 

a) <                b) > 

c) =                d) None of these 

5. 9 × 4 = 3 × 6 × ________ 

 

a) 36                       b) 18 

c) 2                         d) None of these 

6. The cost of one motor bike is Rs. 26780. What will be the cost of 

12 motor bikes? 

 

a) Rs. 321360                      b) Rs. 312360 

c) Rs. 322360                      d) Rs. 231360 
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7. There are 65 buses and each bus have 45 seats. If fare charged per 

seats is Rs. 145, then find out the amount collected from these buses 

per day. 

 

a) Rs. 424225                  b) Rs. 414225 

c) Rs. 424125                  d) None of these 

8. A labor can pack 575 apples in one hour and every day he works 

for 8 hours. How many apples will he pack in the month of February? 

 

a) 12880                       b) 138800 

c) 228800                     d) 128800 

9. A farm has 423 rows of apple trees, and each row has 65 trees in it. 

How many apple trees are there in the farm? 

 

a) 26495                    b) 27495 

c) 24795                    d) None of these 

10. What is the product of 7856 and 546? 

a) 4298376                      b) 4829376 

c) 4289376                      d) 2489376 

B] Find the product of the following: 

(i) 5801 × 901   

(ii) 4999 × 372   

(iii) 5273 × 124   

(iv) 2693 × 254            

(v) 3676 × 402   

C] Fill in the blanks: 

(i) 80× 1000 = ____ 

(ii) 123 × 20 = ____ 

(iii) 501 × 1000 = ____  
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(iv) 3500× 50 = ____  

(v) 145 × 20 = ____ 

 

 

 

 

© PRAADIS

EDUCATIO
N

DO N
OT C

OPY


